
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze di dieci

2, 368 × 100 = ________ 1, 854 × 10000 = ________

1, 044 × 100000 = ________ 4, 565 × 1000000 = ________

1, 214 × 100000 = ________ 3, 811 × 10000 = ________

8, 988 × 10 = ________ 4, 075 × 1000 = ________

9, 541 × 10000 = ________ 1, 249 × 100000 = ________

1, 235 × 100 = ________ 5, 534 × 100 = ________

2, 249 × 100 = ________ 3, 638 × 100 = ________

4, 746 × 100 = ________ 7, 929 × 10 = ________

1, 177 × 100 = ________ 4, 536 × 100000 = ________

7, 749 × 100 = ________ 9, 802 × 100000 = ________
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Moltiplica i decimali per potenze di dieci

2, 368 × 100 = 236.8 1, 854 × 10000 = 18540

1, 044 × 100000 = 104400 4, 565 × 1000000 = 4565000

1, 214 × 100000 = 121400 3, 811 × 10000 = 38110

8, 988 × 10 = 89.88 4, 075 × 1000 = 4075

9, 541 × 10000 = 95410 1, 249 × 100000 = 124900

1, 235 × 100 = 123.5 5, 534 × 100 = 553.4

2, 249 × 100 = 224.9 3, 638 × 100 = 363.8

4, 746 × 100 = 474.6 7, 929 × 10 = 79.29

1, 177 × 100 = 117.7 4, 536 × 100000 = 453600

7, 749 × 100 = 774.9 9, 802 × 100000 = 980200
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